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 /�0 �� 
B�4��,( ); ; ;O i j k
� � �
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B�4��,( ); ; ;O i j k
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 %��� �#���  
)�B�0$ .- ا����ء ا� �4
ب إ�A اM*�س )	�ل : ); ;i j k

� � �

ا� ����ت  
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   :( )P   

?�>( )t ∈Rو( )t′∈RA �8 @را����, �
ى   �8 ���� ��( ); ;P A u v
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vو  
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ى �� �� O�8د@:�ر 
)���ل: <6د ��0د� )P  %� ا� �ر( )1; 3;1A − 
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: -40@ ( )det ; ; 0AM u v =
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       : -40@ 
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:8��9�    %:��( ); ;A A AA x y z  ا����ء و %� 
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���+ "� ا��56ء)9��� ����C�  ا�و!�ع ا
:��=�>%:��( ) ( ); ;Q P B u v′ ′=

�� )و �� ) ( ); ;P P A u v=
� �

%�@
���  

  �% ا����ء �6@�4 : 
)= 0إذا ��ن :  .1 )det ; ;u v u′

� � ��

)= 0و      )det ; ;u v v′
� � ��

  

).�ن :   )P  و( )Q .�0&Y از@�ن
  �B&4#�ن   أو ��

) ≠0إذا ��ن :  .2 )det ; ;u v u′
� � ��

≠0أ و    ( )det ; ;u v v′
� � ��

  

).�ن :   )P  و( )Q ./�#��� Z.ط�0ن  و�#��  

)��:%)��0ظ�: )Pو( )P′  � ��% , �0د���ا����ء ��0. %� %�@
���

0axا�6@:�ر8���% : by cz d+ + + =:( )P 2�( ) ( ); ; 0;0;0a b c ≠     

0aو  x b y c z d′ ′ ′ ′+ + + =:( )P′    2�( ) ( ); ; 0;0;0a b c′ ′ ′ ≠      


ن ا� ��
@�ن  .1:@( )P و( )P′  1#.% إذا و�ط0�#�� 

0abإذا ��ن :  ba′ ′− 0acأ و   ≠ ca′ ′− 0bcأ و  ≠ cb′ ′− ≠ .  

ن ا� ��
@�ن  .2:@( )P  و( )P′  %  إذا و.#1 إذا و=6 >6د�از@
��

7,a�k  : ?<#�#- ��� �604م  ka′ bو = kb′ cو  = kc′ =.  

ن ا� ��
@�ن  .3:@( )P و( )P′  إذا و.#1 إذا و=6 >6د  %�#B&4�

  ,7�k  : ?<#�#- ��� �604م 
a ka′ bو  = kb′ cو  = kc′ dو  = kd′ =  

2 )	�ل : 3 0x y z− − − =  :( )Q      3و 3 6 2 0x y z− − − = :( )P  

)ا� ��
@�ن ا���اب : )P  و( )P′    �0&Y %�@از
��3k=  

10( @�H
���
�ن د��Sر��
�ن � )�9د
)��:% �8��9 و<�=��: );D A u

)ا� ��#�/ ا� �ر �%  � ); ;A A AA x y z   

)و  ); ;u a b c
�

  .O� 
�=
� 
����  

  :L$�� 0إذا≠ a0و≠ b 0و≠ c    :
 U4ن ا��.
A A Ax x y y z z

a b c

− − −= =  

/�#�� �  A �8D : ��0د���ن د@:�ر8���ن �
�  cأو  bأو  aإذا ��ن أ<6 اM>6اد  ��) ��604�0  =a  
≠0و b 0و≠ cن�. (  :
 U4ا�Ax x=وA Ay y z z

b c

− −=  : A �8

/�#�� �   �0�Dد���ن د@:�ر8���ن �
 ���604ن cأو  bأو  aإذا ��ن >6دان �% اM>6اد  

  ���)0 =a 0و=b 0و≠ c :
 U4ن ا��. (Ax x= وAy y=    

/�#�� �  . A �8D : ��0د���ن د@:�ر8���ن �

�H@ و)�
�ى "� ا��56ءا�و!�ع )11��� ����C� درا�� ������0: - ا

3 :1)	�ل 2 2 0x y z− − − = :( )P  و( )t ∈R 
1

2

3 2

x t

y t

z t

= +
 = −
 = +

( )D    


ى �� �� -B�42 ا�^
)أدرس ا� )P /�#�� و ا� ( )D   

1 ا���اب : 0x y z+ − + = :( )P    : اذن( ) ( ) ( )1 2 3 2 1 0t t t t+ + − − + + = 

 -40@1

2
t ) اذن := )D  ى
)@#&2 ا� �� )P : 
 .- ا�#4&

1 3
1

2 2
1 3

2
2 2

1
3 2 4

2

x

y

z

 = + =

 = − =

 = + =


3 3
; ;4

2 2
A
 
 
 

  ھ- $#&
 ا��#�ط2

3 :2)	�ل 2 2 0x y z− − − = :( )P  و( )t ∈R 
1 2

1

2 4

x t

y t

z t

= +
 =− +
 =− +

( )D    


ى �� �� -B�42 ا�^
)أدرس ا� )P /�#�� و ا� ( )D   

5 ا���اب : 2 3 10 0x y z+ − − = :( )P : اذن

( ) ( ) ( )51 2 2 1 3 2 4 10 0t t t t+ + − + − − + − =  -40@1 0− = %: � ��� 

) اذن : )D و( )P �0&Y از@�ن
��    

:��=�>  %:��( ) ( );D D A w=
��

)و    ) ( ); ;P P B u v=
� �

  

)إذا ��ن   )det ; ; 0u v w =
� � ��

)و   )A P∈  ن�.( ) ( )D P⊂  

)إذا ��ن   )det ; ; 0u v w =
� � ��

)و   )A P∉  ن�.( )D  �0&Y  ازي
@( )P  

)إذا ��ن   )det ; ; 0u v w ≠
� � ��

).�ن   )D  ق��N@( )P. 




